BF17L—F

KP60A. KP60AW. KP60OATP

IN—IJ X

DO IN—YIEEBL

ﬁit%*i B A &= 1F i

meiwa




[(BBEEXIZONTOIFE]

N

L ZOERERFRICIE, ROBKXOE S INGE L THh

@® KP60A @ KP60AW o

CERERTESCDOBRIZIE, BTIROFEEZ B HE <

LT T Y (Assy) DFEIEERMIZ OV TR, B
HLONHD EFFTOTITHELIIZEN,

BT ERCERT L LBH Y EFTOT

CERARDTESLIASE T, EIEE M 2 —,

BB AR T PRIERR S 2 TR < 72 E 0,

U=

KP60ATP

TZEWN,

O E

anfl e TE R

TTHALIIZEN,

TH~THmIEES W

o



1-1. #MEREMR

B &

1-2. #MERGLR (KP60ATP)

2. ERIRBALR

3. HUKBEHR (KP60AW)

4. EHEAFR

5. EHRELCI 7 v ay)

11



1-1. SRR




1-1. SRR

RH - {E o

e 31 MeES | B & A 60A | 60AW | 6OATP s
1 5003491 [1RENHR 1 1 1

2 5004104 ([T U B 1 1 1

3 5000283 |BA#R3 L 4 4 4

4 1001289 |Fwk 8 8 8 [M10

5 1001325 [R5 Ivix 8 8 8 [M10

6 1001376 |Jviv 4 4 4 |p105%x p25%3
7 5004153 |F—1)H/\— 1 1 1

8 1000632 |RJLk 2 2 2 |M10x25

9 1001325 [RTYL T Tvix 2 2 2 |M10

10 | 1001376 |Twi v 2 2 2 |p105x p25x3
11 | 5004154 |#4E/\2KIL 1 1 1

12 | 5002509 [/\>FILBHIRDT L 2 2 2

13 | 5002508 |/\URILZEEY 2 2 2

14 | 1001384 |Twi+v 2 2 2 |p17x ¢38%x45
15 | 1001291 |Fwhk 2 2 2 |M14

16 | 1001327 |RTYLHTvdvy 2 2 2 (M4

17 | 1001398 |VAJLE 1 1 1 |A-30R

18 | 1004893 [T oV 1 1 1

19 | 5002904 (T 4wk 2 2 2

20 | 1000615 |7R)Lk 4 4 4 |M8X45

21 1001324 |RTY)2 T Dwix 4 4 4 |M8

22 | 1001351 |FL—rTwiy 4 4 4 |M8

23 | 5000289 |RbyTIL 1 1 1

24 | 1001289 |Fwk 1 1 1 [m10

25 | 5002510 |7—1H/S\—HfFHRR 2 2 2

26 | 1000632 |HJLk 2 2 2 |M10X25

27 | 1001325 |(RTYLHT Ty 2 2 2 |M10

28 | 5003494 |A Y AKH/N— 1 1 1

29 1004894 [=iLVIZYF 1 1 1

30 | 4002686 |F— 1 1 1 |5X5X33/
31 1000612 |7R)Lk 1 1 1 |M8X30

32 | 1001372 [T+ 1 1 1 |p85x p28x45
33 | 1001324 |RTYL T Tvivw 1 1 1 [m8

34 | 9000688 [5=Iy7TYFAssy 1 1 1

35 | 9000444 |/\UFILZEE > Assy 2 2 2

36 | 5004105 |RYTvs 1 1

37 | 1000611 |7RJLk 3 3 |M8X25

38 | 1001324 |RTYL T Iwsv 3 3 |M8

39 1001351 |FL—rTvix 3 3 |M8

40 | 1000632 |HJLk 1 1 |M10X25

41 | 1001325 (RTYLT Ty 1 1 [m10

42 | 1001352 |FL—rTwiy 1 1 [M10




1-2. 5+ 4E8f% (KP60ATP)




1-2. 54 4E8% (KP60ATP)

RH - {E #

e 31 MeES | B & A 60A | 60AW | 6OATP fi
1 9000660 |31 Assy 1

2 5004076 |EfEIR 2

3 1000611 |RJLk 4 |M8x25

4 1001324 [RTYL T Twix 4 |M8

5 1001288 |Fwk 4 |M8

6 5004077 |2AX TS vk 1

7 1000636 |7RJLk 2 [M10x45

8 1001376 |T v+ 4 |p105%x $p25x3
9 1002633 |M/\# 8 |H10

10 | 1001289 |Fwhk 4 |M10

11 1004830 |24y 2

12 | 1000609 |AJLk 2 |M8x20

13 | 1001324 [RTYLETviv 2 |M8

14 | 1001371 |Tviv 2 |¢$85x p17%x3
15 | 5000627 |BUK/\(T=2E 1

16 | 5004078 |AJLk 1

17 | 1001324 |RTYLEFTwiv 1 (M8

18 M8

19 | 1001288 |Fwhk 1 [m8

20 | 1001351 |FL—rTwiy 1 [m8

21 1000612 |7R)Lk 1 |M8X30

22 | 1001351 |FL—rTwiy 1 |M8

23 | 5004155 |EER 1

24 | 1001835 |M/\#% 2

25 | 1001288 |Fwk 2 |M8




2. BiIRAE®R




2. BiRAE®ZR

RH - {E #

e 31 MeES | B & A 60A | 60AW | 6OATP s
1 9000022 [(#CHR{KAssy(A) 1 1 1

2 5003458 [EEHRIAT—XR 1 1 1

3 1000673 |RJLK 6 6 6 [M14X30
4 1001327 [RTUL T Tvix 6 6 6 [M14
5

6 5002513 |¥EHRIK 1 1 1

7 1001409 |[RF7Y45 2 2 2

8 5002514 |72 RI(A) 1 1 1

9 5000293 |RNF7L S RI(B) 1 1 1

10 | 1001405 |0V % 2 2 2

11 1000799 |/RAIRATRILE 8 8 8 [M8X20
12 | 1001324 |RTYLHITvsv 8 8 8 |M8
13 | 1004308 |AAI)LL—IL 1 1 1

14 | 5002515 |F—1) 1 1 1

15 | 1002018 [T 1 1 1 |p105%x p40x6
16 | 1000632 |AJLk 1 1 1 [M10X25
17 | 1001325 |RTYLHTvdv 1 1 1 [m10
18 | 1001420 |F54 1 1 1

19 | 5003981 |[/8w¥> 1 1 1




Bk B3R (KP60AW)

3.




3. EN/KBE R (KP60AW)

RH - {E #

e 31 MeES | B & A 60A | 60AW | 6OATP s
1 9000595 |[BI/KILIEAssy 1

2 9000596 |T T H—KAssy 1

3 5003808 |TTUH—K(A) 1

4 5004106 |T>TUH—K(B) 1

5 1000632 |RJLK 2 M10X25
6 1001325 |RFY2 T Dwi~x 2 M10

7 1001352 |TL—2wiv 2 M10

8 1000611 |7RJLk 3 M8X25
9 1001324 |RTY T Dwix 3 M8

10 | 1001351 |[FL—rviy 3 M8

11 | 5000301 |R&AYRAILE 2

12 | 5000302 |#>9tykTL—bk 1

13 | 5000733 [RAKRTTL 1

14 | 1001303 |F4/A>F vk 2 M8

15 | 1001324 |RTYLHTwiv 2 M8

16 | 5003496 |BUKZYD (V4 vkt 1

17 | 9000045 |/KAZ2DFxyTAssy 1

18 | 1001395 |E|IE> 1 $25x%x25
19 | 1004831 |av% 1

20 | 1001427 |ARARIILAR 1

21

22

23 | 1004832 |9)v7 1

24 | 1001414 |E=—JLK—X 1

25 | 5000297 |&R/KAR 1

26 | 1000630 [A)Lk 2 M10X20
27 | 1001325 |(RTYLHT Ty 2 M10
28 9000500 |EIIKAR> D Assy 1




4. $HREARR




4. $HAREAR

R

=

BH
Jf

BRES

60A

60AW

60ATP

1004761
9000689
1004226
1002354
1004241

SR (FE5E
HtRAssy
NI

NI

NI

aa)

© O N Oojor B WON =

1002287
1002286
1002284
1004766

IRNJL
o 2a 9%
IRNJL
IRV

RN G U QU G G | G G G G g

RN G U QNI G G I G I G g

G G G G [ G I G g

10




BRECTLaY)

5.




5. BB T ay)

g: L #om & W 60A {EIGOAWﬁ 60ATP fis
1 9000020 |:EMfEEAssy 1 1
2 | 5000298 |EfrEE 1 1
3 1001426 |21+ 2 2
4 1001357 |TL—rwiv 4 4
5 1001396 |EIE> 4 4

12




M

meiwa

wxar AAFIZEVEFR

B OR OEER
X Bk EERr
EEBREER
& M EER
i & EEmr
B8 B HERAT
N o I
Rt —

T 334-0063
T 536-0021
T454-0869
T816-0921
T984-0042
T378-0122
T 334-0063
T334-0063

JI

O M ® X # 5

X BR T WEEES 3-2-20
£ H B W PIRRFI-32
R KEHtHAmE1-10-33
fuat™ EHEKXHMET4-23-10
HRRBETRRTER1480

JI
JI

O f = X 8 5
0O+ ® X 8 5

http://www.meiwa-Itd.co.jp

TEL (048) 284-8883
TEL (06) 6961-0747
TEL (052) 361-5285
TEL (092)502-9100
TEL (022) 236-0235
TEL (0278)53-4075
TEL (048)283-1611
TEL (048) 280-5555

190327

FAX (048) 282-0234
FAX (06) 6961-9303
FAX (052) 361-5257
FAX (092) 502-9104
FAX (022) 236-0237
FAX (0278)53-3807
FAX (048) 282-0234
FAX (048) 282-0330



